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Why is bleach NOT the best choice for immersion of shears following exposure to blood?

A. ltis ineffective

B. It can cause chemical reactions with other chemicals
C. It must be diluted

D. It can corrode

Answer: D

Explanation:

Use of bleach as a submersion liquid can corrode tools. Immersion in a broad-spectrum

disinfectant is the best choice for shears that have come into contact with blood. The CDC guidelines
state that a diluted bleach solution can be used to clean hard surfaces in the event that there is no
other substitute.

What is the purpose of waving lotion in an exothermic permanent wave?

A. To provide grip on the perm rods

B. To create a medium for heat

C. To create waves

D. To break down the structure of the hair for re-forming

Answer: D

Explanation:

The purpose of a waving lotion in any perm is to break down the structure of the hair for re-
forming. An exothermic perm is unique in that it relies on an outside heat source to penetrate into
the hair strand.

Which of the following conditions is characterized by redness of the skin?

A. Rosacea

B. Chloasma

C. Melanoderma
D. Vitiligo
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Answer: A

Explanation:

Rosacea is a chronic inflammatory congestion of the skin often found on the nose and cheeks.

The characteristic redness is caused by broken capillaries visible on the skin's surface. In cases of
acne rosacea, this redness can sometimes be accompanied by papules or pustules. Spicy foods and
alcoholic beverages have been known to exasperate the redness, as can the application of topical
irritants such as perfume. Clients experiencing rosacea can receive facial services only with the
approval of a physician.

When shaping eyebrows, which point of reference of the eye should be used when
determining proper positioning of the arch?

A. The pupil

B. The iris

C. The outer corner
D. The inner corner

Answer: B

Explanation:

The proper positioning of the arch of the eyebrow can be determined by using the iris as a

point of reference. This can be done with a client looking straight ahead and envisioning a line going
directly up to the eyebrow.

Which of the following is the most productive way of slowing the spread of bacteriain a
salon or spa setting?

A. Bleaching towels and capes between each use

B. Washing hands

C. Disinfecting stylist chair between each use

D. Storing disinfected combs and brushes in a closed container

Answer: B

Explanation:
A stylist's hands are capable of cross-contaminating the greatest number of surfaces in a
salon/spa. Proper and frequent hand washing greatly lessens the spread of harmful bacteria.
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Which of the following lengths would best suit a client who desires to minimize attention
to her long face?

A. Hair cut at collarbone
B. Chin-length bob

C. Diagonal forward lob
D. Pixie cut

Answer: B

Explanation:

A chin-length bob minimizes the look of a long face by bringing attention to the chin. Hair cut

at the collar bone or in any sort of lob (long bob) further elongates the face. A pixie cut would be a
static, non-moving hairstyle that would also emphasize any face shape.

Which of the following statements is INCORRECT?

A. Without a guard or comb, a clipper is capable of removing hair tc varying lengths
B. The moving blade on a clipper is known as the heel

C. Arazor cuts the end of hair to an angle

D. Slithering done with a razor

Answer: D

Explanation:
Slithering is a technique done with shears. In this process, the open shears are moved in an

up and down motion along the hair strands. Slithering is used to create texture or remove bulk from
the hair.

Which of the following bones make up the ankle?

A. Talus. fibula, tibia

B. Fibula. tarsal, talus

C. Metatarsal. tibia, cuboid
D. Navicular. fibula, tibia

Answer: A

Explanation:
The ankle joint forms where the fibula and tibia (lower leg bones) meet with the talus, or
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anklebone.
Question: 9

Which internationally recognized pictogram might be found on the label of a skin
irritant?

A. Exclamation mark

B. Skull and crossbones
C. Flame over circle

D. Flame

Answer: A

Explanation:
An exclamation mark is the pictogram found on the label of a skin irritant. Pictograms are
internationally used to identify ingredients in a substance that may cause harm to the user.

Out of the following choices, which nail product iS capable of harboring bacteria or
pathogens?

A. Nail polish

B. Nail polish remover
C. Cuticle softener

D. Acetone

Answer: C

Explanation:

Cuticle-softening products are capable of harboring bacteria and pathogens. For this reason,
special care should be taken to apply cuticle softener without the bottle or dropper coming into
direct contact with either the client or the technician's skin.
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